XOHE (ix - k)

# ' B
1] rOXORAEHEEFEDHLEL,
@D -8x+3y+2x—y @ 4a—-2b—Ta—6b
= ~bx+2y :-30-8b
@ 3x> —x+5x" +2x @ 6ab +3a—7ab—9a
= Q2+ X = ~ab-ba
2] RroHEELLEEL,
@D (x+6y)+ (Gx—4y) @ (2x+7y)+(—3x—4y)
* bx ty = -X +3y
@ (4a—8b) — (2a — 3b) @ (—6a+9b)—(—6a+8b)

= 20-5b = b

ROHET, A BILHTREZ+H—DRBETNTNERLEL,
@ (Sa+b)+(3a—2b)

—5a+b[A|3a[B]2b At B —

@ (7x-3y)—(-5x+6y)

=7x-3y[A]5x[B|6y A T B —

[4] rosEELEEL,

@D (6a—-3b+1)—(—a+2b—4) @ 3a°-2a+6—(—a?—4a—-4)
= po-3bt1 +tO-2bt¥ = 302016107 +%a+t ¢
= T70-5btS = 40°t20t (0
@ (0.5x2—-3x)—(=15x2—x+7) @ (gx—Zyj—(lx—zyJ
4 6 3

=0, gx'.ax-rl.sx"tz -7

= 9x*27 -7 =573 2t e
- 1._ 4%
31-3/



	２年完成



